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QUESTION 1

What is the smallest unit ofphysical I/O in an Informix server? 

A. Chunk 

B. Extent 

C. Page 

D. Dbspace 

Correct Answer: C 

 

QUESTION 2

What can be used to generate a custom configuration for DSS and/or OLTP environments? 

A. onconfig 

B. onstat 

C. ifxclone 

D. genoncfg 

Correct Answer: D 

 

QUESTION 3

In which segment of database shared memory is sorting performed? 

A. Volatile portion 

B. Virtual portion 

C. Non-parity portion 

D. Extended portion 

Correct Answer: B 

 

QUESTION 4

Why does a database execute a checkpoint operation? 

A. To ensure that runaway queries are stopped before consuming all the system resources. 

B. To synchronize the pages in a primary dbspace with a mirrored dbspace. 
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C. To update statistics for large tables currently being accessed by queries. 

D. To synchronize the pages on disk with the pages in the shared-memory buffers. 

Correct Answer: D 

 

QUESTION 5

Which of the following administrative processes can Informix handle automatically? 

A. Online Archival 

B. Storage Provisioning 

C. Database schema optimization 

D. Datare-distribution 

Correct Answer: B 
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